38 @ x4 |

100 less
.
2/3 of this || 30% of this @™ | 118
.
16 more || X2 |ugp|d%ofthis
.
* X29

Puzzle 21



£40

Add 5% || <6
x100 €= +19p &= 2%:this
2/3 zhis w4y | 300% of this || Deduct £10

-

Puzzle 22



Remove 2

4

1150% of this

125% of this

4

| 40% of this

Puzzle 23



£7

250% of this

4

x18

t

1000% of this

)

Half it

4

10% of this

+ 60p

4

150% of this

Puzzle 24



£59 4 x3 |&

5/6 of this

4

200% of this

&

+ 80p @~

P 9% of this

_END R

5 less

4

10% of this

‘

x10

4

2/3 of this

Puzzle 25



